Subject: Re: Simple question about the '>' sign.
Posted by David Fanning on Sun, 31 Jan 2010 00:25:49 GMT

View Forum Message <> Reply to Message

wlandsman writes:

Just to be clear, that is what the 3 lines of code are doing, so the
answer is yes,

Y = (B-A*6) > 0
is equivalent to
Y=B - A*6

index=where( Y It 0., ct)
if ct ne 0 then Y[index]=0.

VVVVYVVYVYVVYV

Sorry. Didn't really read the code. Tennis, you know. ;-)
Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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